Planning Guide: Percents

Ways to Assess and Build on Prior Knowledge
Activity: Have the students solve the following science fair problem.

Three middle schools are going to have a science fair. The science fair will be in an auditorium. The amount of space given to each school is based on the number of students. Three Streams Middle School has about 1000 students, Boss Middle School has about 600 students and Jackson Middle School has about 400 students.

1. The rectangle below represents the auditorium. Divide the rectangle to show the amount of space each school should get on the basis of number of students. Label the sections TS for Three Streams, B for Boss and J for Jackson.


2. What fraction of the space should each school get on the basis of the number of students?

3. If the schools share the cost of the science fair on the basis of number of students, what percent of the cost should each school pay?

4. If the cost of the science fair is $300, how much should each school pay on the basis of number of students? Justify your answers.

Adapted with permission from Mathematics Assessment: A Practical Handbook for Grades 6–8 (p. 120) by 
Pam Beck et al., copyright 2000 by the National Council of Teachers of Mathematics.

If a student appears to have difficulty with these tasks, consider further individual assessment, such as a structured interview, to determine the student’s level of skill and understanding. See Sample Structured Interview: Assessing Prior Knowledge and Skills (p. 2).

Sample Structured Interview: Assessing Prior Knowledge and Skills
	Directions
	Date:

	
	Not Quite There
	Ready to Apply

	1.
The rectangle shown in Step 3, Part A, Activity 1 represents the auditorium. Divide the rectangle to show the amount of space each school should get on the basis of number of students. Label the sections TS for Three Streams, B for Boss and J for Jackson.

	1.
Student does not recognize the rectangle as the whole or the size of each space is not reflective of the amounts presented in the question.
	1.
Student draws an accurate diagram, such as:

TS

B

J


	2.
What fraction of the space should each school get on the basis of number of students?

	2.
Student does not recognize that 2000 is the whole.
	2.
Student responds with the correct fractions of 
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, 
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 and 
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. Student shows correct calculations and provides an explanation, indicating that the whole is 2000, 1000 is 
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 of the whole, 600 is 
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 of the whole and 400 is 
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 of the whole.



	3.
If the schools share the cost of the science fair on the basis of the number of students, what percent of the cost should each school pay?

	3.
Student is unable to convert the fractions to percent.
	3.
Student responds with the correct percentages of 50%, 30% and 20%. Student has calculations and explanations to justify his or her answers.

	4.
If the cost of the science fair is $300, how much should each school pay on the basis of number of students? Justify your answers.
 
	4.
Student is unable to determine cost based on the percentages.
	4.
Student provides correct calculations and answers of $150, $90 and $60 respectively.
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